3. EEZEHIIRDL

(1) B3 ([E%& 154t)
SERR L AR \ <FPEHE A Hl \
S oORMEB O Bl S oORME o REL
Mo 0 13 + 5 33 27
~ B 33 40 ~ B 67 73
s 67 47 K T 0 0
Oi#Em efxZ%kE ofEd DLE eaFxRZE oOET
EHD REL EHID AL
SHADKR SHADRKR
s L S~ s S I 7
0% 20% 40% 60% 80% 100% 0% 20% 40% 60% 80% 100%
REFIE BlIEAEWV \
S ORBE O FaEL A HIOIRL
I WA 7 0 o 0
~ K 53 60 R OE 80
e 40 40 S 20

0ifiz BFE 0Ffk

oiEm eF%E oEd

kEEDRAEL
SHEDRKR

z v 7 7 ///

O% 20% 40% 60% 80% 100% 0% 20% 40% 60% 80% 100%

SHOKR

<EWL (A1) LAY
AW oRWkB o sl AW oWk o BamL
I R 7 8 I #in 7 7
K& 80 33 & 80 60
= 33 54 mo(fp 12 33
o BRZE 0Ef Uik @FE DB
EHIDREL FEHDOREL
THRORE BE >—— SHORR
0% 20% 40% 60% 80% 100% e

0% 20% 40% 60% 80% 100%

() AR, = BIHEREA (GFTETH ~9H) S _=A 1 (B f24E7 H ~9H ) ok
ko FaEL = BERE (GFTE10~12 ) Lk 8 (24100 ~12H) o RasL



(2) B3 (R 404t)

<5t A < JEURA B A BT
SWoRGR O R sl S oRGR O H @l
N 10 3 - H 24 24
Es 18 28 ~ R 71 71
B 72 69 [EEN 5 5

oigm efE oEd SLR eFE OET

EHID AL FHMOREL
SEDORR SRR
a - 7 s -~ L L
0% 20% 40% 60% 80% 100% 0% 20% 40% 60% 80% 100%
3 e ralEa HlEAEWV ‘
S ORMEI O Bl S HOIRBL
I R 13 10 oo 13
~E 30 28 RE 26
B b 57 62 A 61
o BFRE OElL oiEm efRE ofEd
EHD REL
DR SEDRR J
’ —F——— a4
0% 20% 40% 60% 80% 100% 0% 20% 40% 60% 80% 100%
EPL(E AR ‘ B LR ‘
S ORI o Fas L S ORI O Bas L
I #5 8 5 I ER 10 3
~ B 22 26 ~ B 48 52
Hfp 70 69 R 42 40
Oifér @F%E 0OE(t Oifé; BA%E OEL
RAORBL EHORBEL
SHADRKR
i SHORR
0% 20% 40% 60% 80% 100% - 7 7 7

0% 20% 40% 60% 80% 100%

(JF) S HIORM. = BTERE (BRITETA ~9H) L7458 (S f24ET7H ~9H) DIk
SEHAD Haml = ATERM (ST aE10~12H) L7kl (B f24E10 A ~12H) o Ja@l



(3) 523 (I 9tt)

35 | * P A A Bl
S ORBEM O L S ORM O FaElL
# N 0 0 T+ H 22 22
T~ % 22 22 ~ B 78 78
Bk D 78 78 K T 0 0
o#EMm eFRZE oREd DtS BFZE OET
I
KHIDREL EHOREL
SHDKRT L SHEADRKR 5
0% 20% 40% 60% 80% 100% 0% 20% 40% 60% 80% 100%
REFIE BlIEAEWV \
S ORBRI O Bl A H ORI
I Hn 0 0 0 0
~E 22 22 ~E 22
s bk 78 78 S 78
oifE: mRE OB Digm EFE ORD
[T T 1
EHID REL
SHADRKR
SHEADRKR
s L S L / / / /
0% 20% 40% 60% 80% 100% 0% 20% 40% 60% 80% 100%
<N (B L) < AR
ASHoORBEM O KaEL ASHORME O KaEL
I iR 0 0 I R 0 0
RE 38 22 N R 78 67
m b 62 78 ol 22 33

OifEz BFE OFE(k offéx BF%E oEL

SEHIOD ELEL EHDRBEL
S 43
SHORR SHDORKR e

L L L
0% 20% 40% 60% 80% 100% O% 20% 40% 60% 80% 100%
0 0 0

(JF) S HIORM. = BTERE (BRITETA ~9H) L7458 (S f24ET7H ~9H) DIk
SEHAD Haml = AERM (ST aE10~12H) L7kl (S f24E10 A ~12H) o Ja@l



(4) /h5E 3k (BIE264E)

el ‘
S ORMEI O BadlL
oo 4 4
R~ OB 8 27
A 88 69
oENm eFRZE ofEd
EHADREL
SRR |
s L L L
0% 20% 40% 60% 80% 100%
T N X ] ‘
SRR O R @l
- 5 35 35
A~ K 50 57
K F 15 8

OLR 8f%E DET

EHADREL

SHDIKR

S S L
0% 20% 40% 60% 80% 100%

EL(E AR
S ORBPE O FHadL
I WA 4 4
R~ R 13 36
= 83 60

OifEz BFE O0Ffk

EHDRBEL

SRR

e el
0% 20% 40% 60% 80% 100%

- %5 Bl

S ORMR O Bl

8 8
42 42
50 50

Dt BFRZE OET

=il inn
M o

kEHDORBL

SHDRKR

s 7 7
0% 20% 40% 60% 80% 100%

RIS

S ORMR O Bl
I WA 4 4
r~ & 27 42
A 69 54

0fi @FRE ojEd

kEDOREL

SHORKR

s L L L
0% 20% 40% 60% 80% 100%

g
S ORMPE O FHaEL
I WA 4 4
~E 33 44
g [l 63 52
oitéz mfR%E oEL
FHDRBEL
SHDOKR

e )
0% 20% 40% 60% 80% 100%

() A AR, = BIHEREA (GFTETH ~9H) S _T=A 1 (B f24E7 H ~9H ) ok

S0 FHaml = TR (SFeaE10~12H) LE_72 3k (B 2410 ~12H) o JasL



(5) r—E RE ([ 18%%)

<5e b ‘
S ORMEI O BadlL
oo 6 6
~ R 6 6
A 88 88
oigm eFRZE ofEd
T T 1
SEHDEEL e [
SHIDHKR — 7
s L L 7
0% 20% 40% 60% 80% 100%
AT A B PFEHE)
S ORMEI O Bl
- H 33 24
A~ K 28 35
K F 39 41

OLER BFE OET

kHDRAEL

SHORR

T
0% 20% 40% 60% 80% 100%

<N (B 1)
S ORI o Fas L
I #5 0 0
R _E 24 33
= 1k 76 67

Oiféz BfRZE OEE
EHDREL
SHORR

L L

0% 20% 40% 60% 80% 100%

- R HU
S oR PR o HoaE L
+F H 6 0
NS 39 39
K T 55 61

ntH BsFZE OETF

EHDORAEL

SHDRKR

sz L 7

0% 20% 40% 60% 80% 100%

S e ilEaS
S ORMR O Bl
I WA 11 13
r~ & 11 19
A 78 68

Oitéz BF%E o

EHDRBEL

SEOWKR

s L7

0% 20% 40% 60% 80% 100%

A ORI O R s L
0

I ER 0
NS 44 39
aH L 56 61

0ifiz BFRE OEL

kEDRAEL

SRR

s L S 7

0% 20% 40% 60% 80% 100%

() S WO = FHEFRE (GFICETH~9H) LEA~T2A B (BF24E7H ~9 H) DR

SO RiEL = BER (SR E10~12H) L7300 (528410 ~12H) o JHaEL




